84 Mathematics - VII

EXample-8 : In the given figure AB, CD and EF are three straight lines intersecting
each other at a point O. If ZCOE = 45° and ZAOF = 90°, find £ZDOB.

Sol. Let ZDOB = «x
ZFOD and ZCOE are vertically opposite angles
y ZFOD = ZCOE =45°

AOB is a straight line

ZAOF + ZFOD + ZDOB = 180°
90° +45°+x = 180°
135°+x = 180°
x = 180°-135°
x = 45°
Required angle ZDOB = 45°
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1. Name each of the following as acute, obtuse, right straight or a reflex angle.

(ii) (iif)
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Write the complement of each of the following angles
(i) 53° (ir) 90° (itr) 85°
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(iv) 6 of a right angle vy 0°
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Lines and Angles
Write the supplement of each of the following angle

(i) 55° (i) 105°
2 ;

(iri) 100° (iv) 3 of aright angle

2 f 270°
) 3 ©
Identify the following pairs of angles as complementary or supplementary.
(/) 65°and 115° (if) 112° and 68°
(iii) 63° and 27° (iv) 45° and 45°

(v) 130° and 50°

Two complementary angles are in the ratio of 4 : 5, find the angles.
Two supplementary angles are in the ratio of 5 : 13, find the angles.
Find the angle which is equal to its complement.

Find the angle which is equal to its supplement.

In the given figure, AOB is straight line. Find the measure of ZAOC.

50°
A O B

In the given figure, MON is straight line find
(i) <£MOP (ity ZNOP

(x+207)

M 0O N

Find the value of x, y and z in each of following.
(1) (i)
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12. Find the value of x, y, z and p in each of following.

(1) (if)

A
v

v

13. Multiple Choice Question :-
(/) If two angles are complementary then the sum of their measure is .................. :

(@) 180° (b) 90°
(¢) 360° (d) none of these

(if)y Two angles are called ................. if the sum of their measures is 180°.
(a) supplementary (h) complementary
(¢) right (d) none of these

(iit) If two adjacent angles are supplementary then, they form a ................
(@) right angle (h) vertically opposite angles
(¢) linear pair (d) corresponding angles

(iv) If two lines intersect at a point, the vertically opposite angles are always ..........
(@) equal (b) zero
(¢) 90° (d) none of these

PAIRS OF LINES

Here, we shall discuss about intersecting lines, transversal, perpendicular lines, angles
made by transversal with parallel lines and non-parallel lines.
1. Intersecting lines : When two lines intersect exactly at one point, they are called intersect-
ing lines. In figure, CD and EF are intersecting lines and O is the point of intersection.

2. Perpendicular lines : Two lines are said to be perpendicular to each other if they meet or
intersect at a right angle. In figure, CD is perpendicular to AB and is written as CD L AB.

C



Exercise — 5.
(wiwrg—5.1)

Kueston 1.
Soﬂdlon
(I%> 7 4
(1) \
> . Q &
f\ Le
,jfu-f ’4‘27"&— ObTluse W
(e 3E) (mifR T
D »
<o - - < r\)\)
A O =3 -
Shee ﬁ]ﬁ' a/ﬁft KCF/&L Q /@Q
(Fow XE) (foadhasy Ze)
W 7 = ) 8
Obluge_. an(jee_
("‘c‘ff%!& Q&) A c
CcJe ary
( »Ge ﬁ



QUQﬁO D
Q{?—"h noz "> L

When the dum o} measvre of 10 GW
- 90, then thue a

‘PCA Ozt,Q.Co ) 4.
(Rc%a?@%w%ﬁ\és‘%qw%%
2R T b))

) 53

o7 3? ( Frast Q’ﬁa@e) =63
E—,T' 3—— CSCCoY)d, an(j,ﬂ-,)

8’0
ol =
S %’—‘53 -
[x = 37 éus |
CH) Qo
2f5% 3? (F;rs‘f' a/ﬁ(t) - 9o
337)‘/_58 W 3(’; (gecond Q'Zi‘&)
(.zcx)
; qO“-l-:L .- qO"
X = Q9o0—-9o
S =0 %
(Au,) 25

?fﬁ%‘ 2’? (F/y_g'f‘ a?jﬂe) _ 85‘
5179

ey 0 8 7e (Sccond. aple) = x

85 +x = Qo’
s - qO_gg——

[~ =5 dm




TSRS ”
L AR 2l IR S Ds el SRy RGN0

R S

(‘V\ ll O ‘ o & e ¢ )
' ) 'Fa AQht Qﬂﬁgc- (ch’rota & %L) \

?fﬂ‘});! r')\)'L'r ( Ha.';"— an(j,()e) =, %L\)( '6}65 lo
|

= Yyxilo
¢ ;L’o.
gﬂ" & ( Second a/wﬂc = X
o+ x =90
~x = 9o-Yo
x =50°

v) o ,
) st g (Festagl) = ©
R 2z (Second OnaoC) = X
0

o422 = 9
x = 90-0
e
o = 90

—_— X ¥ —X —X X

Gx,ucé‘HOY) 3
..?
(ﬂﬁ) L hero the UM ﬁ‘ measvye ?}— JFoo 08/&6

{s 1&o. Then Jdhuse QVBQCA ane. AUPPJW% G/ﬁ/e@
(72 % A oo o YA fr qw e =
2 SRE} IT 5) =

) 55 . :
o/f 75! 3}" ( FuetT ao}]ﬁe) = 855

v ) ¢
a1?) '/[’; 2y JAET | ana E_—
%) ) ( Secona 179 ) =



Nowd

S 5 + X - o

T P [8o lgo @
X = '80‘55. - €S
| 5 2s
[x =125

i) 105 .

lfﬁ'?? (Fla's"f" p
2 Se ")

(-Ltf) 4 S’,ﬁ ".;’r' (Second, arg,fc) x

QE(NOLJ)) 105 +x = 180°

L - '80"',05 )2’0
’ — (oS
X * —75_1 75

tii) loo” L‘ '
71‘67)_' ?‘g (F.I.KS-'— q/,gfe) = ’ooo

At 83, 27 FE (Secomdd angle) =

(Let)

o0& (f\'ouJ)) oo +x = 180
x = 8o —l00°

riv) 2 ‘g
K 33 cj”;: 6:89& ( ¢ %>
o e ¥ =

ey Fe (Fist an —Qg)
S0 A, o Fe ( Second an&ng

(aed)
gt (New), 60+ =\&0
~ = 180~ 60

[x =120°]




- . W 9

¥y L a5 95° =5
5 oF Q*zoqo( 10" T 3) ®

,.' S Q—:JO- - g o
¢ t,2’_>< |6

"rf‘w %’*? ( Fust angl) = P
ﬁhm ga‘ RC CSC.COYICL mg,jfc) = X

()’
15 (Now), 90+% = 180
B _ |80 -90

X

(45 ) il rer o R IR Se T Ad Q0
(we know that 4um o) Complc,mcn’ccu@»

a uqo
an;%wmaa-ﬂ o da & IT 5’ "

and, Svm of aup C”’)f/nfdﬁ- ’8&6 8

(b 65,115 .,
¢s +11S = |&o " \80
 fro AR 3z € 73 O |
(These- e Bopplerneroty M(j’cu>> X
S
IR 13 68
) ° &

12 ’+ £&e :_ \80
feo shea R Gu 5
(ch, are._ ,supfﬁevr)cnhﬁ G@f’tb)



i) 65, a7 §3
+ 2
63 -+ &"'I :: QO q e

. feo =rR S @ ax D |
C'U'\e.sc, are Comfz()tmfmf”ﬁ WWQ’A)

(’V) L’S-/LIS-
Yys +4s = 9o’

(det ) , ﬂ" T (Sc,comd an‘jpe)

wﬁg—ﬁy%waa??% 90 TR”J'I

(we krow, svm )f Cow*ftmcmi’a.w— axvgreté ZCI)

Ux + 5x =90
qx. = 9o’ . Q'nom ¥E _ Uz =4xlo
N - qO " - ]
L | Cligt) ey,
[% =10 P2  =5x=5 Xlo
Seco nd a?]/c) ) g‘qomlm



” ’:t
~ < - i
eH! K= ( Sel »d 'zzzrs\
o & (o = '\ . ' \. \‘F ~ !
wl vz o R Fey AT T g 8

We, g } o) R 3 \
i.,. khow’ &')U'n“ o}' ‘-SLl)'\ ",_fe‘)\f’l -21'&{ ‘1 ).."%QL‘ 8 A
B ) ( ¢
o X +/3x = K ga
182 = 1&a°

x = I8¢
\8‘

ExaE

’ - o '
& . . I/“ = o - r—\. |~ s 0".“
L arow SE (fw.s"'sﬂ(iu\ =AY =2
(3

~ ot : - w \".\\
0¥ XS CSQ(OW:J m\(jie\ = I3x = 1A% = e L
=
____-—-"—X X o R X
Queshon

$FT5 T o s

(/36 'h.l.'LL’c :t-“ ‘I;’\’( a0l :!)'_3&’ :\\;.‘ :)'-. 6 EXLIN
Ao 4ts ccmpfumn't \

2}{73 ’;7#3 aﬂ'—‘ = i &
(%‘t/ +he qﬂj‘(c,_)

o
.

X ¥+ X = Qo

X = Jo
[t =4
PC  — .

2 1



(\‘\u(‘sh'on . .\5
2024 7 8> apll B e 23 = 7 S U

Foror L epwg e | '
(mt‘ h—aw, +o "ff'm.{, arn. a/ﬁpe, CDhLC
-1'&9 AU/’/"""?W'

C
ofn B FE = X

G,

3 mpere

iu—&e,?uali‘o

(:ﬁ:t dhe aﬁ&,)
e x 4+ X = (8o
2. = |80
- -
i ook -~ X —
QUCA"L'O‘Y?
T 12 '
w#fl wEe 7 R e de
T AR & T 5] 80°
(u)e, Rnow O'%Oe_ B @l - Z N
6%5411' bne 43 180) A .
ﬁ’g =Y
Boc = 5o° ”3 :)!>
(Here) u ( a’ven
92 [_ﬁOC.-,L [60C_ = (8o .;7-5-%—: 31__
o) © ¢ ‘ (S W Gng.le
lpoc + S0 = |&0 il
(poc = & SO
FLAOCJ = }300/
N R R




_'?,'Qv%ﬁ'on 10 | - 1)
A T Y =

T Ir e
(o6, s o Ry 185 Fr ¥

e . ;
% (x+29)\ (x+U0)
__.__9
M @)

S ‘ ' ; UE
(Ha@ A Xtao , [PON = ox +Uo (5;3 2
- rvcr.
Zaﬁoo) ) [MOF + |PON = (86" ([Tgaw X X /
.

(sﬂaﬁw‘ Qrg(
CI.+2-0+v.x, ""(-(O = ,80°
CQJL +60 = ;g°°
&2/ - ]80.—600
Q2 = |96
v 4t = 190
>
e ol = é’oo
s (Mop
"n%L a’iw— TT20 = 6otdo o g v
(and) = XTHO = Lot yo = (oo s
X X X ———x x
ueation—| |
QJ\HT’ |00
(v .
e S = IOO 0
( Phap S5 A& o d
Ves He ogile
ety eppne
= (ﬁmfa HRA JT
' Vu.ﬁ(,aﬂ%}» opposifc WQ'D




,3@. ue..u‘v'o*rz) i N 1

CRETH .
[ Ys5¥ac+35 = 189
3 ¢ 2
(éeﬂ T
= L e i —}-gg |
Ro+ x = I18°° 2 O
Y = [80.——80. —_—
x = |00 7 |
33 & I8
= |80 - o 5
s + 2 dimeat paur -




exs 3 L 0 e B w0138 go "
% 0 d ' —{33 @

o [:a = ‘iSj 45
B ,...‘ o :'Oo. . - L’S. = 13 s__u
o r  d > &

A veatiom
3wy B>

 (hpac

#¢ii) (a) Svppfcmwttaﬁ' (7&?&>

Ciii) (&) limear pawe (5”7 ’33')
(iv) () Fqual ( T3

_,._--—"OX b S x

X e ¢ P

x

T —

e

o
ﬁw/)a&edf 5(7 ¢
KAMAL MAIN
GHS KoT fALAN
—TALANDH A RS




